Potencias de 10 (I)

9.3589+-0.001

5.5867+0.1

6.2395 0.1

6.2813 +-0.01

4.0759 = 0.001

9.0318 0.1

8.293 +0.001

4.2848 +0.01

3.627+0.01

3.6283 +0.01

Calcule los siguientes cocientes.

9.8201 +-0.001

7.961 0.1

8.6482+-0.01

2.3979-+-0.001

2.4787-+0.1

9.3248 +-0.001

9.2165+0.001

9.4978 - 0.1

7.3879+0.01

3.257+0.1
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Potencias de 10 (I) Respuestas

9.3589 = 0.001
9,358.9
5.5867 0.1
55.867
6.2395 0.1
62.395
6.2813 +0.01
628.13
4.0759 +0.001
4,075.9

9.0318 +0.1
90.318
8.293 = 0.001
8,293
4.2848 = 0.01
428.48
3.627+0.01
362.7
3.6283 = 0.01
362.83

Calcule los siguientes cocientes.

9.8201 = 0.001
9,820.1

7.961 0.1
79.61
8.6482 =+ 0.01
864.82
2.3979+0.001
2,397.9

2.4787 0.1
24.787
9.3248 =+ 0.001
9,324.8
9.2165=0.001
9,216.5
9.4978 = 0.1
94.978
7.3879+0.01
738.79
3.257+0.1
32.57
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